Review for Final Examination
Intermediate Algebra — MAT 1033

‘The Final Exam for MAT 1033 will contain twenty-five questlons twenLy—two

iree response questions, and five word problems of which the student must
choose three and answer.

L=+ Solve the following linear equations. Then state whether the equation is an 1denu’ty a
conditional equation; or an inconsistent equation. (Chapter one).
| 3% x-3 42
1. 2—3{3nz—6}+10m:~2(m—7)+4 +3m 2 = S
5 2 3
IL Simplify each of the following exponenﬁal expressions. (Chapter one).

—1_-2 =3 ; - 4
3. -2 4x ly xyj _ : 4. ( -3 77’22 3) . (2 m }23)
X'y x "y ' _ '

1I1. For the given functions f(x)= ¥ 3% +2 and  g(xy=x-4 oand k(x)=+/4x-3
find the following: (Chapters two & seven).

5. Jr(_:a)) — 6. f(5’+h) — (a>
: h
7(f + )@= . (.f—}(;z)
' 4
. (f-2)-D
IV. * Find the equation of the line in with the given conch‘uons Write the answer in:

a) Standard form, b) slope intercept form (Chaptel two).

| 10. Passes through the points (-2, 3) and ( 3, 1).

L1. Passes through the point ( 4, —1) and it is perpendicular to 3x — 2y =

V. Find the domain of the foﬂowmcr functions. Leave answers in intérval notation.
(Chapters wo & six & seven)

> 15. flxp =<2z ~1
X, ‘ |

12, g(x) =




VI. Solve the following inequalities: Graph the solution set on a number line and write the
answer in inferval notation. (Chapter four).

14, 4r —3(x+4) < 1+ (=+6) 15 —2<-3—;5_sl

16, [2x—1]>2 - 17. |22 = 1| <=2

VIL. Find the solution set of the following equation. (Chapter four).

Il
N

B |2-1-5=2 19. |2¢— 1] +5

VIII. Factor the following expressions completely. (5.3 —5.6). .

20. 2> —14m® +24m 21 42?49 ‘
22 277125 o230 2 o0sx e 75 |
24. x> -100 |

|

IX. Perform the indicated operations. (Chapter 6). |

Lo 0

2 2
5, x3 9 - X +6x+9 %, (y—’rl) . y+2
x. =27 x2+3x+9 y2+7y+6
27. 2x“1 B R 2-x |
CoxT+2x+1 =2 o

28. (47.4 —~1722_+14z—_3) + (22-1) performlong division

X. . Simplify each of the following complex rational expressions. (Chapter 6).
2
k~1 v 2 - . '2a_1+3b_1
29. — . 30. —_5__—2
I 4ag = — 9p—
x+1

Xi.  Solve each of the following rational equations. (Chaptér 6).

a1 2 5 _ 3% 4+ 35 ) 32—'2:4_21}2
x5 241 ' Riae.3 , z+1 - z—1

XIL. Solve the following equations for the indicated variable. (Chapter 6).

33. V ==m’h forh 34,

k]
p

L |



XII.  Simplify each of the foll owing expressions. Assume that all variablesin a radical
represent positive real numbers. (Chapter 7).

35, 64x6 N, 36 Y-y

oX
37. 627x - ‘7\/48x /75x - x,3/3x
: . 5/96x12 11 . 2x2/3ax“1/2

33, 1742

XIV. Rationalize the denominator. Simplify if possible. (Chapter 7).

12 8

— 41, —°
'\3/ 91722}110 ' 2\[§~\[§ h

XV.  Solve each of the follbwing equations. (Chapter 7).

2',/5x‘—1—\/x‘:1- ey ,/.y+1-+2y:8

40.

XVI Muhlply the following. Simphfy any radical expression that appears in the product.
’ (ChapteL 7).
4. (23 - 76 )(3v3 - 6)
XVIL Perform the indicated operation(s) and write the result in the form a + bi. (Chapter 7).
(2 -71)(5 +2i) 46. 22‘3_1
‘ : + i

XVIIL  Solve the following quadratic equations by the indicated method. (5.7, 8.1 — 8.3).

2
Z VA : .
.47. ? B 3 =0 fc?c?oz'zzlg.
2 T _ . ‘- -
48. (Zx = 3) + 2 = 6 Square root property

49, 2412 +

Qo

a = =12 Completing the sg;zzare

50. Zx(x + 4) = 3x -3 Ouadratic formula



ISZ.  Solve the following systems of equations by the method of your choice. (3.1). - -

2x.+ 3y =3 . 8x + 2y =5
51. ' 52.
5x+ 2y =13 y =4x -1

KX. Graph the solution set of each of the following systems of inequalities or indicate that
the system has no solution. ( 4.4)

. ‘ 3x+y <6
x+y>3
23 4° 54. 1 x=2-2
x+y <—2 ‘
y <4

WXI. Solve the following word problems.

55.  John Walker made an extra $8000 last yéar by selling toys he had made. e
invested part of the money at 14% and the rest at 12%. His total annual income
from interest was $1060. How much was invested at each rate? -

56.  Inachemistry class, 5 liters of 4% silver iodide solution must be mixed witha
10% solution to get a 6% Solution. How many liters of the 10% solution are
needed? ‘

57 When 7 is added to the reciprocal of twice a number, the result is the reciprocal
of four times the number. Find the number. o :

58.  Chuck can paint a room in 8 hours when working alone. If Walt helps him, the
total job takes 6 hours. How long will it take Walt if worked alone?

.59, Jill and Russ agree to meet at the Reno airport. J ill travels 250 kilometers
“and Russ travels 300 kilometers. If Russ's speed is 200 kph greater than Jill’s
speed and they both spend the same amount of time traveling, at what speed
“does each travel? :

60, AB-737 jet flies 445 miles with the wind and 355 miles agairist the wind in the
' same length of time. If the speed of the jet in still air is 400 mph, find the speed
of the wind. ' '

61.  Suppose r varies directly as the square of m, and inversely as s. Ifr =12 when
m=6ands =4, findr whenm =4 and s = 10. ' ‘
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31.

ANSWER KEY FOR MAT 1033 FINAL EXAM REVIEW

No Solution, inconsistent equation
1

2x’y?

20
KZ;ZX—Z
11

a) 2x + 3y =5

b =—x +—
) Y 3 =

Domain = | 1/2, w)

< N e i—— -
- L 7 i
13
["29 13) -

A distance can’t be less than -2, so g’é ;

I3
A distance can’t equal -3, so Q.

Prime

G = e + 5 - 5)

X+3.

x* —8x —1
2(X+1)2(x,—1)

—(X+1) -Xx—-1 x+1

(x—l) o X~1_OL L—g

No Solution, because x = —3

=

2.

4,

12

14,

16.

13.

20.

24,

26.

30.

x = 25/7, conditional equation

16n"
=

>4

2a+h-3

Domain = ( —e0, 2) U (2,

&= ' |

j -

. 19 .
(%]
NS >
=1/2 3/2

(=, =1/2) U (3/2, =)
x={-3, 4}

i 3)m - 4)
(3y_5_)( Oy* + 15y + 25)

(x +16)(x—10}

y+2 -




33

35.

22,

41.
43,

5.
7.
49.
51.

53,

37

59.

h =

2
T

2%y 5/2Xy2 a

&

23 /3% - 8x.3x — xiBx

x /3 .

(23 + J2)
5

y=3 ¥ *l

24 — 31i

z= —-3,6

a=-2+.J2i

(3, 1)

[T

- System

has
no
Solution

$5000-was invested-at 14%.-
$3000 was invested at 12%.

The number is _%8 .

Jill’s speed is 1000 knth.

Russ’ speed is 1200 kmb.

r:3%5

40,

42, x =1 %‘

36. - ~2x i/X—Z
38, 2y 3y

N
4 ¥3mn?2 -

44. 60— 69V 2

6. L -5
5 5

8. x =Y, %
50. x = s o
52. (%6 , %)

54. 1

56. 2.5 Liters of the 10% solution.
58.  Walt would take 24 hours alone.

60. The wind spéed is 45 mph.



